Precalc13.5

Find the probability of an event, given the occurrence of another event

conditional probability

sample space P " |®

subset



Reduced sample space...two-way table

12. Medicine To test the effectiveness of a new vaccine, researchers gave 100
volunteers the conventional treatment and gave 100 other volunteers the new
vaccine. The results are shown In the table below.
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o The conditional probability of given event B, is defined as
Conditional

Probability pa|B) LA B here P(B) £ 0.
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FRUS
Find each probability.

4. Two number cubes are tossed. Find
on the cubes matchgiven that their sum is greater than five.
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In some situations, event A is a subset
of event B. When this occurs, the
probability that both event A and event B,
P(A and B), occur Is the same as the
probability of event A occurring. Thus, in

these situations P(A |B) e Event A is a subset of event B
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i die is rolled once, and the number on the top facd is recorded. What is the

probability that the number is a multiple of 4 if it is known that it is even?
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A pair of number cubes is thrown. Find each probability given that their sum is
greater than or equal to 9.

9. P(numbers match) P (Q \ul | ' > q)
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13. Currency A dollar-bill changer in Bill
a snack machine was tested with — 7
100 $1-bills. Twenty-five of the bills Tegol 69 6 _p 75
were counterfeit. The results of _ — T
the test are shown In the chart at Counterfolt t"r—' =
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a. What Is the probability that a bill accepted by the changer Is legal? LIA ) { O 0
b. What Is the probability that a bill is rejected given that it is Iegal?
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